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- Note :—  Answers may be written either in English or in Hindi; bgt the same medium should be used

throughout the paper.
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Instructions :—

The paper consists of two Parts A and B. Part A is of 40 marks and Part B is of 35 marks.
For Students of S.0.L., both Parts A and B are compulsory. v
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Attempt All questions.
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Part ‘A’
(9T =)
1. State True or False with reasons 3 5x2=10

@) | RAM (Random Access Memory) is non-volatile in nature.
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( 2 ) 7646
(i) [32] Of decimal number is equivalent to 100000 of binary number.
(iii) Assembly language is also called First Generation Language.
(v) GOPHER is also an Internet Protocol.
(v) Software running in a Bank is a General Purpose Séftware.
ot (g s w o e § o A ¥
(i) <wmeE S w1 [32] fg-emud @@ % 100000 % gw' ECi |
(i) Preio e Howem G o of w4 OE
(iv) TR TH e WAER f T
(v)»a‘a:ﬁmmmm@mmmwvﬁ% |
(a) Whaf are the advantages and disadvantageskof Computer ? 5
(b) Explain any two Protocols relating to Internet. 5
(F) TR & TN AR-TAT E 7

(@)mﬁﬁaﬁwamﬁﬁwﬁﬁq|

Or
(37E)
(@) Explain the difference bet_weenA Interpreter and Compiler. | 5
(b)) What is a Search Engin‘e'? Discuss any fwo Search engines. 5

(%) froas iR oums # @ W FifST |
(@) dN-t @ w aed ¥ 2 fed @ de-ger w1 faee wim
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(@) Write the steps of FIND and REPLACE in MS-Word. 5
(b) Explain the procedure to print a Worksheet in MS-Excel. 5

(%) TTE-a€ # FIND @R REPLACE # = fafy |

(@) T.0E.-TRE 7 -FE-1f & o ﬁ qis T wAY |
Or
(averan)
(a) Explain the types of Alignments in a Word Documeﬁt. : 5

(b)  What do you mean by Cell Referencing and what are the different types of Cell

Referencing in MS-Excel ? o 5
F) T E d wam @ el B e @R
(@)ﬁﬁ%ﬁ—ﬁéﬁmﬁ A F wsré g 7 qq.@.-qa@a ¥ iftew-fyA &
. fae wER Fm ¥ 2 |
() Explain any two logical functions with examples. 5
(b)) What are the different Layouts in Presentation Software ? 5
(E)ﬁﬁ%ﬁ?ﬁaﬁmw%ﬁ@wwmw
(@rjmﬁr'm wnﬁ i fafi sfwere @ ¥ 2
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Or
()
(a) Explain the functions : _ 5
(#H PMT
(#) SUMIF.
(b) Whét are £he different types bf View in PowerPoint ? | 5

(%) Frefefem wemdl 1 T FHA
(i) PMT |
(i) SUMIF.
(@)wﬁqﬁmﬁwﬁﬁmm%?
Part ‘B’
(‘#m g)
Write the S‘yntax. used to cé]culate the Slope & Intercept in Regression analysis in
- MS;Excel. | | T
7, T R e G o qﬁm‘m%mm'w—m
feferg 1 | |



(@) Explain any fwo logical functions with examples in MS-Excel.

¢ 5 )
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(b) Complete the table for the First Period of Loan and Lease statement for the folloWing

data. Write dov'vn:rthe Formula in the appropriate cells

7

A B C D E
LOAN -
500000
AMOUNT
PERIOD 4 years 48 MONTHS
RATE OF
16% P.A.
INTEREST
 EFFECTIVE
RATE OF 2
INTEREST
EMI ?
OPENING . | cLosING
PERIOD ~ " |" INTEREST | INSTALMENT
BALANCE | BALANCE
1 ? ? 2 ?

(F) TTE.-TRA # 5l f dhama THEl H GRR WR HifST
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(@) frfafea siwst & fau ww iR vea fomw &1 yom @@ty &1 gt

aﬁwﬁﬁqnmaﬂf@w@ﬁlﬁﬁfw

A IEERERE

1 ERUEY 500000

2 FHAE Y 4 ol 48 18

3 R 16% fd &l

4 | FHE S W ?

'5- 3. UH.3TE. ?

6 | wEEy i i | e | few | e e

7 1 9 | 9 9 ?
Or
(372re)

(a) Differentiate between ROUNDUP and ROUNDDOWN fupction in MS-Excel with

an example. ' A -7
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(b) Write the formula in the following cells that returns the Principal Payment, Interest

Payment and the EMI for the first month of a 4-year ¥ 200000 loan at

16% p.a. interest : 7
A B c - D

LOAN

1 200000
AMOUNT

2 PERIOD 4 YEARS
RATEOF = |°

3 f 0.16 % P.A.
INTEREST

4 PPMT ?

5 IPMT ?

6 PMT 2 ?

(%) W T TH.UE.-TRE § ROUNDUP 3R ROUNDDOWN Wehrd

& = s T
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(@) Freafafed wiftswsi 3 16% aftiw am W % 200000 F WG RO F
,W@ﬁﬁmww,mwﬁﬂgwaﬁwwmw

fofay

A B C D
1 xRN 200000
2 A Y 4 EL|
3| WS 0.16 | % afdieh
4 | dhdLTaAn ?
5 | sEdtmad. | 2
6. .3, ?
(@) Explain the procedure how to' move or copy a formulé in an Exqel sheet. 7

(b) Write the formula for DA, HRA, BONUS and GROSS SALARY in C2, D2, E2 |
and F2 respectively to prepare the generalized Payroll statement in an Excel Sheet

from the following data : - 7
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Employees are entitled to Basic,- DA, HRA and BONUS :
. DA 1s péyable @ 17% on Basic.
HRA paid is T 3300 for Basic < 15000 and ¥ 5500 for others.

K Bonus is payable @ 8.33% of (Basic plus DA).

A B C D E | F
‘ | BAsIC ‘GROSS
1 EMPLOYEE DA HRA | ' BONUS '
SALARY | SALARY
2 | * ASHOK 10000
3 'KHAN ' 20000
4 KULDEEP 30000

($)Wﬁﬁwwémm_uﬁﬁﬁwﬁmwaﬂm|

(@)ﬁﬂﬁf@ﬁﬂlﬁﬁ@ﬁ@@ﬂﬂﬁamwl@d qdﬂﬁ'ﬁlﬁﬁ?ﬂ%ﬂl’(ﬂﬂﬁ%
mczDzﬁzaﬂthﬁm mwwmwaﬁmaﬂ?

Waﬁﬂﬁm.lﬁw_:
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FHAN @ o, ﬂ%ﬂﬁww o B AT % FRAR T
. TR W OYE W 17% T T |

« WA < 15000 W T 3300 HEM TR 9w ¥ R T 5500 3w & forw

AT (Y@ + HEME 9WT) % 833% W e ¥ |

A B C. D E F
. g | W . -
1 | #HER | Ha A . M9 | ERel 9ad

2 | oWl 10000

3| @A 20000

4 | HoR" 30000 -

Or
(3re7e)

(@) Explain the procedure to represent data through Graph in MS-Excel. 7
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(b) Write the FORMULA to calculate the Current ratio and Quick ratio in-éppropriate '

cells in MS-Excel from'the following data : | | : 7
A B C D
'LIABILITIES AMOUNT ASSETS | AMOUNT

EQUITY _
SHARE 60000 GOODWILL‘ 25000
CAPITAL N
DEBENTURES ~ 25000 MACHINERY 55000
SUNDRY )
. 10000 STOCK 15000
CREDITORS . '
UNCLAIMED '
5000 - CASH 5000
DIVIDEND '
TOTAL 100000 TOTAL 100000
CURRENT QUICK
. ? : ?
RATIO ~ RATIO

() T e §owE B ogu S fefm e ® sk e @ |

P.T.O.
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(@) ffafaa et @ qm\rq—qa@ﬂ 0 Iuged wiftcwel # tuci I 3?1?

ofa e dRER W W g e

A B C D
2 | s SRR S 60000 afd | 25000
3 ERULE 25000 BN 55600
4| fafEudR | 10000 Wi 15000
5 | 3A-qrE e 5000 LETS 5000 -
6 FA | 100000 | KA 100000

7 =Te] 37T ? @ STy ?,

7646 12 ' 22,000
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